National Testing Agency

Question Paper Name: B Tech 04th April 2024 Shift 2 Paper
Subject Name : B. Tech
Creation Date : 2024-04-05 11:26:58
Duration: 180
Total Marks: 300
Display Marks: Yes
B. Tech
Group Number : 1
Group Id : 680191181
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group?: No
Edit Attended Group?: No
Break time: 0
Group Marks : 300
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar? : No

Mathematics Section A

Section Id : 680191221

Section Number: 1



Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 1 Question Id : 68019113794 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a relation R on 17 = 17 be defined as:
(xR (. o) ifand only if xy = x, 0111 = 35
Consider the two statements:

(I) R is reflexive but not symmetric.

(IT) R is transitive

Then which one of the following 1s true?

Options:
68019154371, Only (1) is correct.
68019154372, Only (II) 1s correct.

68019154373, Both (I) and (II) are correct.

68019154374, Neither (I) nor (II) is correct.
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Question Number : 1 Question Id : 68019113794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019154371, Pad (I) el e

68019154372, Pt (II) FE1 B

68019154373, (1) TY (1) ST &1 §

68019154374, Tl (1) T &1 (11) T8l B

Question Number : 2 Question Id : 68019113795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region

S={zeC:|z-1|22(z+7)+i(z—Z) = 2.Im(z) = 0} is

Options :

5

2T

68019154375.
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68019154376. 3
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68019154377. 4
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68019154378, &

Question Number : 2 Question Id : 68019113795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:
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68019154376. 3

68019154377. 4
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Question Number : 3 Question Id : 68019113796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 5 .
Let A= [:] j and B =1 + adj(A) +adj A)? +...+(adj A)1° .

Then. the sum of all the elements of the matrix B 1s:
Options:

68019154379, 21
68019154380. —110
68019154381, —124

68019154382, —88

Question Number : 3 Question Id : 68019113796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7
= [:1 j dUTB =1+ adj(A) +(adj A)? +.. Hadj A)1° .

dl. 3fiegg B & G 3fagal S1 41 3
Options :

68019154379. 21

68019154380. —1110

68019154381. —124

68019154382, —88

Question Number : 4 Question Id : 68019113797 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B > 4 3 : 3 = 3 .I' ™ 2 ¥ " - 5 -
If the coefficients of x*. x* and x° in the expansion of (1 + x)" are in the arithmetic
progression. then the maximum value of # 1s:

Options:

68019154383. 7
68019154384, 14
68019154385. 21

68019154386. 28

Question Number : 4 Question Id : 68019113797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg (1+x)" P TR H x*, x° TUT x5 P 701 THiaR 4uft § €. Tl » 1 Iy
e

Options:

68019154383. 7

68019154384. 14

68019154385. 11

68019154386. 26

Question Number : 5 Question Id : 68019113798 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of X2 _+2X3 +...+100x(101) .

PPx2+2°%3+...+100° %101

Options :

68019154387, 30

68019154388. 301

68019154389. 31

68019154390. 305

Question Number : 5 Question Id : 68019113798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

127 +2%3* +...,+ 100 (101)° HIOE &
Px2+2"%3+.,,+100° %101

Options :

68019154387, 30

68019154388. 301

68019154389. 31



306
68019154390. 305

Question Number : 6 Question Id : 68019113799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let three real numbers a. b, ¢ be in arithmetic progressionanda + 1. b. ¢ +3 be
geometric progression. If a = 10 and the arithmetic mean of a. b and ¢ is 8. then
the cube of the geometric mean of a. b and ¢ 1s

Options:

68019154391. 128
68019154392, 312
68019154393. 120

68019154394. 316

Question Number : 6 Question Id : 68019113799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 1 aRdfd® G a. b, ¢ THIGR 40T H G qUTa + 1. b, ¢ +3 TORR 407 F
EAR > 102 T o b, ¢ PTIHR AA S T, T a. b. ¢ P UK AL PTH &

Options :

68019154391, 128

68019154392. 312

68019154393. 120



68019154394, 316

Question Number : 7 Question Id : 68019113800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f(x)=3x-2+v4—x beareal valued function. If o and P are respectively the

v . - % 2 .
minimum and the maximum values of f. then o™ + 2~ 15 equal to
Options :

68019154395, 24
68019154396. 38
68019154397. 44

68019154398, 4.1

Question Number : 7 Question Id : 68019113800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAT f(x)=3x—2 +/A—x GRG0 el B 8] TS o TUI p PHI: £ D AdH
AU SHAH AH§. o o + 2p2 TWER ©

Options:

]
e

68019154395.

68019154396. 38

68019154397. 44



68019154398. 41

Question Number : 8 Question Id : 68019113801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the function

"’ B
f{x]= J2 —l+cosx
1 alog 2log 3 , x=0

is continuous at x = 0, then the value of a” is equal to
Options:

68019154399. 746

68019154400. 968

68019154401, 1152

68019154402, 1250

Question Number : 8 Question Id : 68019113801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfe e
727 -9 -8 +1
S(x) =4 J2 = J1 +cosx

alog.2log .3 , x=0

x=0

y=0WRIdde. T L PIAFRE &



Options:

68019154399. 746

68019154400. 968

68019154401, 1152

68019154402. 1250

Question Number : 9 Question Id : 68019113802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x)= j;(f +5‘iﬂ(1 —¢ ))d.r,_r e [®. Then. ”mf(;r] 15 equal to

v—u i) x o

Options:

| b3

68019154403.

68019154404, 3

68019154405. 6

68019154406. 6

Question Number : 9 Question Id : 68019113802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

s ()= (rin(1= s 31t i C)
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Options:

| b3

68019154403.

68019154404, 3

68019154405. 6

68019154406. 6

Question Number : 10 Question Id : 68019113803 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

COSGEX
e 1:. Z Then.avalueof o is

T

If the value of the integral j'

Options :

68019154407.

68019154408.

68019154409, 2



T
68019154410. 6

Question Number : 10 Question Id : 68019113803 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

T
68019154407. 4

Ly

68019154408.

68019154409, 2

T
68019154410. 6

Question Number : 11 Question Id : 68019113804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4
=

The area (1n ¢q. units) of the region described by {(x.3) :y < 2x. and y = 4x -1}

15

Options:

9
68019154411. 32



8
68019154412. 9

11
68019154413, 32

11
68019154414, 12

Question Number : 11 Question Id : 68019113804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

87 {(x.y) )P < 2x. AUy = 4x -1} T 8FFA (@ sPRA 1) &

Options:

68019154411, 32

O | oo

68019154412.

68019154413. 32

11
68019154414, 12

Question Number : 12 Question Id : 68019113805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Let y =1(x) be the solution of the differential equation
(x +4)* dy + 27y + 8xy —2)dx = 0. If 3(0) = 0. then »(2) is equal to

Options:

68019154415, 32

T

68019154416. 16

oo | H

68019154417.

| )
=

68019154418.

Question Number : 12 Question Id : 68019113805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATy = y(x) AP FAIDI (> +4)% dy + (2x°y + 8xy —2)dx = 0 BT T T |
afE 1(0)=078. T p2) WE T

Options:

68019154415. 32

i
68019154416. 16
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68019154417.
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68019154418.



Question Number : 13 Question Id : 68019113806 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let C be a circle with radius ./ units and centre at the origin. Let the

line x + v = 2 intersects the circle C at the pomts P and Q. Let MN be a chord of C

of length 2 unit and slope —1. Then. a distance (in units) between the chord PQ and
the chord MN is

Options:

68019154419, V2 — |

68019154420, 3—+2

68019154421, V2 +1

68019154422, 2 ~+3

Question Number : 13 Question Id : 68019113806 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019154419, V2 — 1

68019154420, 3 -2

68019154421, V2 +1



68019154422, 2 ~+3

Question Number : 14 Question Id : 68019113807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider a hyperbola H having centre at the origin and foci on the x-axis. Let C,

be the circle touching the hyperbola H and having the centre at the origin. Let C,

be the circle touching the hyperbola H at its vertex and having the centre at one of
its foci. If areas (in sq units) of Cy and C, are 367 and 4n, respectively, then the

length (in units) of latus rectum of H 1s

Options:

68019154423.

68019154424, 3

68019154425, 3

I
68019154426. 3

Question Number : 14 Question Id : 68019113807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019154423.
68019154424, 3

68019154425, 3

I
68019154426. 3

Question Number : 15 Question Id : 68019113808 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PQ be a chord of the parabola > = 12x and the midpoint of PQ be at (4. 1).
Then. which of the following point lies on the line passing through the points P

and Q7
Options:

68019154427, (3. —3)

68019154428 (2. —9)

)

b | tad

68019154429. L

[i 4 _20}
68019154430, \ 2



Question Number : 15 Question Id : 68019113808 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O IRaed y2 = 12x $| U Sildl PQ & dUI PQ BT HeA fg (4. ) W ol al
frafaiad & @ o w1 fawg, pqur o el § Tora arell Ya R R 82

Options:

68019154427, (3. =3)

68019154428, (2. —9)
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680191544209. L

0
68019154430, \ 2

Question Number : 16 Question Id : 68019113809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; . x—=2 y-4 z-=2
Let P be the point of intersection of the lines T 2 — and
dwl el ey ] g - : e e
aaane . Then. the shortest distance of P from the line 4x =2y =1z 18
Options:

68019154431, 7

68019154432, /



68019154433, 7

68019154434, 7

Question Number : 16 Question Id : 68019113809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T el 'Tf :-}";4 _ :;2 o 23 :J"f ::;3 P ufrdl fagpe.
A =2y = ARG PR G T

Options :

68019154431. 7

68019154432, 7/

68019154433.

6314

68019154434, 7

Question Number : 17 Question Id : 68019113810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let dz?+_}'+§, b= 2;+4_}'—5f€and5 - ‘1*§+2_;‘+3E__1: c .

If d is the unit vector in the direction of & +¢ such that ¢ .4 = 1. then (.a % f;}-{‘-

is equal to
Options:

68019154435, 3
68019154436. 6
68019154437. 9

68019154438. 11

Question Number : 17 Question Id : 68019113810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hld=i+j+k,b=2i+4j-SkaU ¢ =xi+2j+3k, xR B

afe b +¢ DI QI H TP 5Tg WY j WUSR e fF d-d =1.41 (ax5).¢
GRIGER

Options:

68019154435, 3

68019154436, 6

68019154437. 9

68019154438. 11

Question Number : 18 Question Id : 68019113811 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Forhﬁﬂ.ktﬁbeﬂwanﬁebﬂ“tmlﬂmweﬁoﬁfj:?+ﬁ}_3ﬁamiﬁzjii};zﬁ
It the vectors 4 +h and -5 are mutually perpendicular. then the value of (14 cos

8)” is equal to
Options :

68019154439, 215
68019154440. 20
68019154441, 50

68019154442, 40

Question Number : 18 Question Id : 68019113811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3> 0% 0 AT Oie d=i+Aj -3k quib =3i- j+2k ST B PO T
afe wiew ;o p U 5_ ;5 SRR OTEGA 6 ; Al (14 cos 6)% BT U SRIER §

Options:

68019154439. 215

68019154440. 20

68019154441. 50

68019154442, 40



Question Number : 19 Question Id : 68019113812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the mean of the following probability distribution of a radam variable X:

X 0 2 - 6 &
P(X) a 2a a+tbh 2b 3b

. 46 : I
15 —, then the variance of the distribution is

Options:

151

bJ
=]

68019154443.

366
68019154444, &l

-

281
68019154445, &l

i
68019154446, 27

Question Number : 19 Question Id : 68019113812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ofe o aefess == X of Fafafaa wiiear ge -

X 0 2 4 i)
B a 2a a+b 25

]

Lad
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Options:

68019154443,



151

366
68019154444, &l

-

581
68019154445, &l

173
68019154446. 7

Question Number : 20 Question Id : 68019113813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given that the inverse trigonometric function assumes principal values only. Let x.

—T

! ; -1 i =l -
v be any two real numbers in [-1. 1] such that cos  x—sin * y=¢, S

S 2 ) . .
Then . the mimmum value of x* + y* + 2xy sino 13
Options:

68019154447, -1

—1
68019154448. 2

68019154449, 0

I
68019154450. 2

Question Number : 20 Question Id : 68019113813 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m%%gﬁﬁmﬁaﬁwﬁmwmwﬂ@HHHw%ﬂWl 1 Ha
erﬂiﬂxﬁw_%%wx x—sin_ y= T <

dl 22 +3% + 2xy sina BT GAdH HH §
Options :

68019154447. -1

i-l-||

68019154448.

68019154449. 0

[

68019154450.

Mathematics Section B
Section Id: 680191222
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0

Sub-Section Number : 1



Sub-Section Id : 680191312
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 68019113814 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: ; o - . i) -
CmmHmHMmmﬂ;ﬂiﬁﬁMWyﬂﬂ:ﬁ;:lemmmmmd
\.|I + x‘
o g o - Ji¥
/- ff‘if‘if‘“'”ifJ[I}='jT—E;——j.thenthextﬂHEIaqug_kqisequaito
V14 9ax

1ib tirpes

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 68019113814 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 22 Question Id : 68019113815 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S={sin”20 : (sin*0 + cos™6) x% + (sin28) x + (sin®0 + cos®8) = 0 has real roots}.
If o and  be the smallest and largest elements of the set S. respectively. then
3((a=2)F+ (p— %) equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019113815 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J:IHTHS:{sinEEB - Lshﬁﬂ + cos'J'Ei} ©+ (s1n26) x + (sinﬁﬁ + cosﬁﬁj =0 arkld®
T 651 3% o TUT p 9= S & AT Ga9 BIc] ad] a4 881 3agd 6. dl
(a2 + (B- 1)) R g
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . | 3] .
Let 4 be a 2 % 2 symmetric matrix such that 4| }: [? | and the determinant of 4

B

be 1. If 471 = a4 + B where [ is an identity matrix of order 2 x 2, then o + P
equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019113816 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfe . 2 « 2 Pife &1 U I8 4 THUPR § (& AH:M GRIPE]

ARIUE 1 §13G 47! = 04 + B O61 I PIC 2 « 2 DT AEHD ST 6. Ao+
GRS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019113817 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are 4 men and 5 women in Group A, and 5 men and 4 women in Group B. If
4 persons are selected from each group, then the number of ways of selecting 4
men and 4 women 1§

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019113817 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR AT 4 3T TUT 5 3R &, IR TEg B H 5 SMed quT 4 SR 81315 4
St 1 TP THE & I SIGT B, T 4 e a4 37Ra & 99 o ard
RRCAARSIEI N

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019113818 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f:5 — E_ be a thrice differentiable function such
that f(0)=0.f(1)=1,f(2)=-1.f(3)=2 and f(4) =-2. Then, the minimum
number of zeros of (3F "+ £ ) (x) 18

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019113818 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 A 3a@a-1d U B f15. — L SHIPR ©

B £(0)=0,f(1)=1.f2)=—1.f3)=28. TU (@) =2, TWGBFF"+1f") ()
& THIH 0 BT G@ ©

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019113819 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fa 5

= X
If Icascc‘x dx = oz cot X cosec x| coesc .1;‘+EJ+,3[-DE. -tanE HE
Y

where o.p € Z and C 1s the constant of integration. then the value of 8(u + )
equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 26 Question Id : 68019113819 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o

- A X
afg jcos e’y d = @ cotx cosec x(eocsc X +EJ + flog, am”E

+{.’%.

S8l o.p € R GUTC THISHT AR 8. Ol 8(a + p) PIAH TS
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019113820 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let y = v(x) be the solution of the differential

equation (x + v+ 2)% dx = dy. ¥(0) =—2. Let the maximum and minimum values of
the function y=y (x) in ﬂ,%} be o and P . respectively. If

Ba+x) + F=y+83, 7. 5e au then y + 6 equals

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 27 Question Id : 68019113820 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
HHTy = y(x) SidDd FHIBRT (x + y + 2) dx = dv. 1(0) = =2 1T & & | HFT
ﬂ%} T HaH y =y (x) & SAGH aul F9ad T B « dUTp 51 Al

(Ba+z) +F=p+d3,y,6cZ y+ 5 ERIET ©
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019113821 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider a triangle ABC having the vertices A(1, 2), B(o, p) and C(y . 0) and

angles ZABC = % and Z/BAC = 2:: . If the points B and C lie on the line y =x + 4,

then o” + 77 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019113821 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U@ Ay ABC forads 2N A1, 2). B(o. B) TUT C(y . ) IR BIT LABC = % qur
zma*:z—f s RIER BN AR fSEB U c W@l y=x+4 R RGeS,
o + ;-':' W % L

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019113822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider a line L passing through the points P(1. 2. 1) and Q(2. 1. -1). If the
mirror image of the point A(2, 2, 2)in the line Lis (0. p, y), thena + p + 6v 13
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019113822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fdg3il P(1. 2. 1) AUT Q(2. 1. —1) ¥ TORA dTell Ush 3@ L W fgaR pifor afd
forg A(2. 2. 2) BT U WARFAEI L E (0. B. ) 8. Ao+ p+ 6y WER ©




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019113823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a tournament. a team plays 10 matches with probabilities of winning and losing

1 2 :
each match as — and S respectively. Let x be the number of matches that the team
ot

wins, and ¥ be the number of matches that team loses. If the probability P( [x —y| <

2) is p. then 3°p equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019113823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁﬂwmﬁ 10 B9 Tadl © YT AP BId &I oild- adT 8 &1
Tl ol Hﬂ-ﬂ 2 %tﬂmraﬁﬁﬁaﬁmésﬁaﬁﬁﬂméﬁmn

Wﬁﬁﬁm%a@é’mm%mﬁﬁ@wm —y/<2), pB.aA3P’p
6 §

Response Type : Numeric



Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Physics Section A
Section Id : 680191223
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191313
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 68019113824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the diode circuit shows correct biasing used for the measurement of
dynamic resistance of p-n junction diode :

Options:



A —D—
DI
— 5V e
68019154461, —
R
AAAAAY B
DE
T 5V i
68019154462, —
N R
DE
68019154463, —
> A
D, R
|| T
68019154464, Ul —_—

Question Number : 31 Question Id : 68019113824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8 T, p-n IR SIS &1 TTide 9RIY A9 & o, &1 91 aRkgy 3fd
HIFT BT

Options:

68019154461.



VAN P
nl
——5V e
R
AAAAAY B
DZ
T 5V i
68019154462, —
[, | . R
1T L
D3
68019154463, —
>} \AAAY
D, R
|| .
68019154464, Ul —_—

Question Number : 32 Question Id : 68019113825 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Applying the prineiple of homogeneity of dimensions. determine which one 13
correct.

where T is time period. G is gravitational constant, M is mass, # is radius of orbit.
Options :

Tz 42
68019154465. GM




o
dnr
T° =

68019154466. M

68019154467, T° = 4n°r"

72 4nr
68019154468, GM?

Question Number : 32 Question Id : 68019113825 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

famn & gaif Rsid &1 39ar o3 gaid H3 § &1 61 6:
(@8I T 3fad B9, G [HAIPNU [T, M EeaHH aul » H&l B A ©)

Options :
72— 42
68019154465. oM
T2 - 4?“2"1
68019154466. M

68019154467, T° = 41"

72 dnr
68019154468, GM?

Question Number : 33 Question Id : 68019113826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cyclist starts from the point P of a eircular ground of radius 2 km and travels
along its circumference to the point S. The displacement of a cyelist is:

P

Options:

68019154469. § ki

68019154470. 4 ki

68019154471, V'8 km

68019154472, 6 km

Question Number : 33 Question Id : 68019113826 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Tigidd AR fawg P ¥ 2 km FS01 & qaIoR &7 &1 uRfY R fag s db
ST & S9! AR 8

P

R

Options:

68019154469. 8 km

68019154470. 4 km

68019154471, \/8 km

68019154472, 6 km

Question Number : 34 Question Id : 68019113827 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 2 kg brick begins to slide over a surface which 1s inclined at an angle of 45° with
respect to horizontal axis. The co-efficient of static friction between their surfaces
18!

Options :

68019154473. 1

|
68019154474, <3

68019154475, 1.7



68019154476. 0.5

Question Number : 34 Question Id : 68019113827 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 2 kg B %e G106 9 45° DI R PP TP 3d 0 W {BHH @il € 79
a9 d 52 & 4 RGP 980 SIS & -

Options :

68019154473. 1

|
68019154474, <3

68019154475, 1.7

68019154476. 0.5

Question Number : 35 Question Id : 68019113828 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 90 ke body placed at 2R distance from surface of earth experiences gravitational
pull of :

(R =Radius of earth. g=10m s
Options :

68019154477, 300 N

68019154478, 225 N



68019154479, 120 N

68019154480. 100 N

Question Number : 35 Question Id : 68019113828 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 90 foodT 1 a%] Y2dl g 9 2R ¥ W TRyl §d 3AHd Bl 6 -
(R= q‘?fﬁ GRS g=10 ms =)

Options :

68019154477. 300 N

68019154478, 225 N

68019154479, 120N

68019154480. 100 N

Question Number : 36 Question Id : 68019113829 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A body of m kg slides from rest along the curve of vertical circle from point 4 to B
in friction less path. The velocity of the body at B 1s:

(Vertical Circle)

(given. R=14m, g=10 m/s* and i)
Options:

68019154481. 21.9 m's
68019154482, 16.7 m/'s
68019154483. 19.8 m's

68019154484. 10.6 m/'s

Question Number : 36 Question Id : 68019113829 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m ke GOUH &1 U o, (U saw] favg 4 U S@ieR gaieR Uy U3, gyu|
Rfed Idg W, fa=g B a9 fhaad! ¢ fag B R axg &1 9ra gl -

A

i

B

(- ﬁ{EIIT%'.R= 14m, g=10 m/s> Td V2=14)



Options:

68019154481. 21.9 m/'s

68019154482, 16.7 nmv's

68019154483, 19.8 m's

68019154484, 10.6 m's

Question Number : 37 Question Id

: 68019113830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct formula for height of a satellite from earths surface 1s:

Options:
2 J -R
68019154485, 478
;TERI 12
= £l =p
68019154486. . '+
I_H_:_L{_ +H’
4r-

68019154487.

1/3
(2 zn
i} L

2
68019154488, . 4T

Question Number : 37 Question Id

: 68019113830 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2l Tag T UP SWIE &1 Sdls &) 9o! I3 8-

Options :

N
QJ_R
68019154485, \ 478

L]

7 L
(1P | _R
68019154486, 4T )
A
68019154487, ' %

o

g 173
[ m2 En
&] L

2
68019154488, . 47

Question Number : 38 Question Id : 68019113831 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The contact angle between a solid and a liquid is a property of the
material of the solid and liquid as well.

Statement II : The rise of a liquid in a capillary tube does not depend on the mner
radius of the tube.

In the light of the above statements. choose the correct answer from the options
oiven below :

Options:

68019154489. Both Statement I and Statement II are true.



68019154490. Both Statement I and Statement I are false.
68019154491. Statement I is true but Statement II 15 false.

68019154492, Statement I 15 false but Statement I 15 true.

Question Number : 38 Question Id : 68019113831 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Y1 : [l 319 YT 54 & 09 W= S0, 319 & Uard &1 Ul aurgd ol
T Td Y ST o B

SYA 1T - 54l S i1 § gd T &l Il Aleid] of sfaRe B i)
faR =gt S

a8, SR o Y & Sy ¥ 98l 3 9-
Options:

63019154489, PUT 1T HY 11 &1 Tol 6|

68019154490, BUTI T HYT I I Tad & |

63019154491 PYUT 1 TE! B UR~q HYUT 11 7Te7d B |

68019154492, U 1710 § TR BY- 11 Hel &1

Question Number : 39 Question Id : 68019113832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample of gas at temperature T 1s adiabatically expanded to double its volume.
Adiabatic constant for the gas 15 v = 3/2. The work done by the gas in the process
18

(1t =1 mole)
Options:

[q I

68019154493, 1127

N
- |

68019154494, KT V2

68019154495, R[22 1]

_
68019154496.RT[]"2”2J

Question Number : 39 Question Id : 68019113832 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS HIel 119 1 dIhH 7 IR 3™ & J GHD GN[H 3M1Ta- do Berdl Sild]
TP Ia Y RRF y=328| TIERISU WA & U T PR & :

(u=1 mole)

Options:

T 72
68019154493. L

o |
2

68019154404, RT1¥2-2]

..!_....' ” -y
68019154495, KT 22 ]



68019154496, RT|1-2+2 |

Question Number : 40 Question Id : 68019113833 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The translational degrees of freedom (f,) and rotational degrees of freedom (f,) of

CH 4 molecule are:

Options:

68019154497, ;=3 and f.=2
68019154498, Ji=2 and £, =3

68019154499, J=3 and f, =3

-

68019154500, f; =2 and f.=2

Question Number : 40 Question Id : 68019113833 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U CH., B RIFIRI Wizl b1 DI (£) TUT GUIF el Bl BIE (£) §

Options:

68019154497, ;=3 Udf,=2

~

68019154498, J; =2 Tdf.=3



68019154499, J; =3 Tdf.=3

—

68019154500, f:=2 ¥d f.

— 7}
-

Question Number : 41 Question Id : 68019113834 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A charge ¢ 1s placed at the center of one of the surface of a cube. The flux linked
with the cube is:

Options:

68019154501. 2¢&n

68019154502, *%o

68019154503, %<0

68019154504. Zero

Question Number : 41 Question Id : 68019113834 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g A B 9 P UF Iag & b5 WG T 6| I9 4 T9G Paad ©
Options :

o
68019154501, 2o



68019154502. *%o

68019154503, %<0

68019154504. Zero

Question Number : 42 Question Id : 68019113835 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electric bulb rated 50 W - 200 ¥ is connected across a 100 77 supply. The power
diggipation of the bulb is:

Options :

68019154505. 12.5 ¥
68019154506. 50 ¥
68019154507. 100 ¥

68019154508. 25 ¥

Question Number : 42 Question Id : 68019113835 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

50 77 - 200 '8 elifdhd U ded &1 100 77 Fid U SIS 741 ¢ | ed I Wdad

&g

Options:

68019154505. 12.5 W



68019154506. 50 IV
68019154507. 100 ¥

68019154508, 25 IV

Question Number : 43 Question Id : 68019113836 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. - . ) . . .
The magnetic moment of a bar magnet 1s 0.5 Am~*. It 18 suspended m a uniform

magnetic field of 8107°T. The work done in rotating it from its most stable to
most unstable position is:

Options:

68019154509, Zero
68019154510, 4%1072 ]
68019154511, 8<107=1]

68019154512, 16x107= ]

Question Number : 43 Question Id : 68019113836 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF TS TP D TG 14 39U 0.5 Am? §15H 8x102T & TEIHG & H
eI € | 5 YU Fend el § gl e el R YA H foba

ﬂmﬁﬁf%




Options:

68019154509, L4

68019154510, 41072 ]

68019154511, 8<1072 ]

68019154512, 16%<1072 ]

Question Number : 44 Question Id : 68019113837 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
!
A |Purely capacitive circuit| I
90° .
vl
B. |Purely inductive circuit | II | > > V
| i
C. |LCE. series at resonance| 111 V
0 S
vd |
V
D. |LCE series circuit IV,
90°
> 1

Choose the correct answer from the options given below:
Options:
68019154513, A-IV. B-I. C-III. D-II



68019154514, A-I. B-IV. C-1I. D-III

68019154515, A-L. B-IV. C-III. D-II

68019154516, A-IV. B-1. C-1I. D-III

Question Number : 44 Question Id : 68019113837 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 i 1 9 i i)
Gl EGlhl
!
A 91z oy ooy I
900
>V
B. [3[< IRS1T URyY II. | :f-’ SV
C. |3 arG &1 &y o sufies Lor ooy L VB
>1
V
D. #0fieg LerR UROy v
90°
> 1
frafeEad | ¥ el SR gHT:
Options:

68019154513, A-IV. B-1. C-III. D-II

68019154514, A-I. B-IV. C-1I. D-III



68019154515, A-I. B-IV. C-III. D-II

68019154516, A-IV. B-1. C-II. D-III

Question Number : 45 Question Id : 68019113838 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the ascending order of wavelength:

A, Gamma rays (/)
B. x - rays (4,)

C. Infrared waves (43)
D. Microwaves (/)

Choose the most appropriate answer from the options given below

Options:

68019154517, *a = A3 <l =y

68019154518, 4 =43 =/ =hs

68019154519, "2 = A1 = hy=ly

68019154520, 1 =42 = A= hy

Question Number : 45 Question Id : 68019113838 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafaRad 1 TTeyd & 9od ®H 1 foe:
A. 7T b0t (0)
B. X - foxT (1)
C. 3faxad fbruf (13)
D. Y& (1)
fafaRad o ¥ gel 3Tk gi-e ;

Options:

68019154517, -4 = A3 Ty =l

68019154518, *a =73 <A <hy

68019154519, *2 = A1 = hi<l3

68019154520, 1 = 42 = hs=iy

Question Number : 46 Question Id : 68019113839 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The width of one of the two slits in a Young's double slit experiment 1s 4 times that
of the other slit. The ratio of the maximum of the minimum intensity in the
interference pattern 1s:

Options:
68019154521, 9:1
68019154522, 16:1

68019154523. 4:1

68019154524. 1:1



Question Number : 46 Question Id : 68019113839 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

47 & 5-fER1 v 4 ves BRI & disrs ol BRI o1 9is) 44 7T+ 81 urd
BT TR § SH{day qul TAad digd] &1 S o ;

Options:

68019154521. 9:1

68019154522. 16:1

68019154523, 4:1

68019154524, 1:1

Question Number : 47 Question Id : 68019113840 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A: Number of photons increases with merease i frequency of light.

Reason R: Maximum kinetic energy of emitted electrons increases with the
frequency of incident radiation.

In the light of the above statements, choose the most appropriate answer from the
options given below:

Options :

68019154525, Both A and R are correct and R 1s the correct explanation of A.

68019154526, Both A and R are correct and R 1s NOT the correct explanation of A.



68019154527. A is correct but R 1s not correct.

68019154528. A is not correct but R 1s correct.

Question Number : 47 Question Id : 68019113840 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR S P RU T Ted & JfUPYTA TUI N I PRUIR T I H
ERIIRIDI S

ATFUBYT A: USRI BT M3 F WY BleH 31 U= 9 o

BRI R: Iod sddeiHl &1 ifeean T1id Sl smafad fafezu o amafa
& WY 9gd1 5

SR 68 Byl & g5 1§ e 0 9 98 SR T

Options:

68019154525, GIHi #Y9 ATd R UG! ¢ QU R, HYF A T Uo| AR & |

63019154526, &Il PUT A TG R Hel 8 TR-g R, PUT A ! Uel oS T8l ©

68019154527, A TEl ©. T R Tel el ¢

68019154528, A FE1 el 5. TR R T |

Question Number : 48 Question Id : 68019113841 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Bolt's theory, the moment of momentum of an electron reveolving in
4™ orbit of hydrogen atom 1s:

Options :

68019154529, =

68019154530. 1

=

68019154531, =

68019154532. 2n

Question Number : 48 Question Id : 68019113841 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

)

iR FSid & TR g1gala tRa] &1 91l el & 9o &d sdacH &

Options:

68019154529, =

68019154530.

= |

h
g—
68019154531. =

68019154532. 2n



Question Number : 49 Question Id : 68019113842 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the logic gate given in the circuit:

Ae o

Y
Be o
Options:

68019154533, OR- gate

68019154534, NAND- gate

68019154535, AND gate

68019154536, NOR gate

Question Number : 49 Question Id : 68019113842 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&d ot afvgy & qeu @ifsr® Tie &1 dgaH:
Ao >o
Y
Be Do
Options:

68019154533, OR- TIC



68019154534, NAND- T[¢

68019154535. AND T[¢

68019154536, NOR T[T

Question Number : 50 Question Id : 68019113843 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In simple harmonic motion, the total mechanical energy of given system is E. If
mass of oscillating particle P is doubled then the new energy of the system for
same amplitude is:

Options :

68019154537, £+2

68019154538. / +2

68019154539. 1E

68019154540. E

Question Number : 50 Question Id : 68019113843 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR 3f1ad Mid ¥ fed e o1 $d gife Sul £ 8| gie e $d $U 6
SoITM Gl THI Y 4 dl (b S A5 Sl 341 3147 o fo1e g -

m | P

Options:

68019154537, £v2

68019154538. / +2
68019154539. IE

68019154540. E

Physics Section B

Section Id : 680191224
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191314
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 68019113844 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The disintegration energy O for the nuclear fission of 22U — 1%9%Ce + 42 ~ 5 is
MeV.

Given atomic masses of 220" 235.0439u: 1%0Ce : 139.0054 u.
9% 7 93.9063u : 1 : 1.0086 u,
Value of ¢ =931 MeViu.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 68019113844 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%35[:—} 400, + 9474 + & AT 9GS & o fdges S9i @ MeV
I

a1 B URAT] Sod: 2350 235.0430u; 149Ce : 139.0054 u,
*% Zr: 93.9063u : 1 : 1.0086 u.
¢® BT U= 931 MeV/u.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 68019113845 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A light ray 1s incident on a glass slab of thickness 4./3 cm and refractive index /5
. The angle of incidence 15 equal to the critical angle for the glass slab with air. The
lateral displacement of ray after passing through glass slab 1s c.

(Given sinl5° =0.25)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 68019113845 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3G TN 5 B BE B DT BIARS 43 T, 59 TR WHTRI R
T9fcd & 51 & TIUE Pid Ule ] P (o8 ST BV, HII=ID DIV & SRIER
& | oprur o1 Urie faxuTH, oia ule 1 9 ToR- & 915 cm B
(TE‘HT%: sinl5% =0.25)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 68019113846 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A rod of length 60 em rotates with a uniform angular velocity 20 rad s~! about its
perpendicular bisector. in a uniform magnetic filed 0.57. The direction of magnetic
field is parallel to the axis of rotation. The potential difference between the two
ends of the rod 1s V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 68019113846 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

60 om THETS B ©S. U YHF WS &3 0.57 H oaad f5-gaigUes 3@
& uRa: 20 ST/ ds DI S 477 Y GATS Sl o1 FEDI1G &9 B 420
U 31&f & THTR & | B9 b ol [P-ARI & He f[gHamR VEl




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 68019113847 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Two parallel long current carrying wire separated by a distance 2r are shown in the

figure. The ratio of magnetic field at 4 to the magnetic field produced at C is =.

The value of x i3

Jr..a\ /-\2-’

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 68019113847 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y iRid o §. 3l e TR YRIEg! ar 2r ﬁgﬁm’%lﬂa ARIEDY
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 68019113848 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two wires 4 and B are made up of the same material and have the same mass.
Wire 4 has radius of 2.0 mm and wire B has radius of 4.0 mm. The resistance of
wire B 1s 282. The resistance of wire 4 is Q.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 68019113848 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T GoOHF & &l TR 4 00 B 9AF Ui U &4 8| aR 4 1 3591 2.0 mm U1
dR B &t %91 4.0 mon © | R B BT HARIY 20 81 T dR 4 BT ufaie

Q B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 68019113849 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The displacement of a particle executing SHM is given by x=10sin | wr + = im . The

time period of motion 18 3.14 s. The velocity of the particle at r =0 is
mis.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 68019113849 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR e T DR PP FERUTT = 10sin [ + = | §1 Y T M1l BTt
3.14 s 81§ £ =0 s TR DU P13 n/s B

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 68019113850 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mercury 1s filled 1n a tube of radius 2 em up to a height of 30 ¢m. The force
exerted by mercury on the bottom of the tube 15 N.

(Given. atmospheric pressure = 10° Nimi 2 . density of mercury = 1.36 x 107 kg m™

3 gm cam 22
,g=10ms ..-t--?j

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 68019113850 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 em IS0 &1 UF ATHTH 30 om D1 HaT dP URT W ST 81 IR & GRI
o1 & Fgd ad IR aar g9 NEI

(FeaT 2. aIaTax v &1 218 = 10° N2 . IR ST 99 = 1.36 « 10% kg ™.
g=10 ma 2, w= 212 )

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 68019113851 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a system two particles of masses my= 3 kg and m, = 2 kg are placed at certain
distance from each other. The particle of mass m 1s moved towards the center of

mass of the system through a distance 2 cm. In order to keep the center of mass of
the system at the original position, the particle of mass m, should move towards

the center of mass by the distance cmm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 68019113851 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T H SO0 my= 3 kg T my =2 kg TP S J $B g3l IR IW ¢
GO0 my B 58 HEHG & GoidH-dw% &I 3R 2 em G F G fohar S
1 fe 29 Fo1g & goqq &g ol yd [Rufd & 399 & fau g% m, G008 &,
SO SG DI AR om [ARIITTT AT R

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 68019113852 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bus moving along a straight highway with speed of 72 Jan/h 1s brought to halt
within 4 5 after applying the brakes. The distance travelled by the bus during this
time (Assume the retardation is uniform) 1s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 68019113852 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

72 bk 1 AT O UiEf Uo& IR TAHM U 9 & b - W4 s H [BR
a3 oc 31 59 997 8 afe foRid @ & 99H X o1 aF af 99 gRT
?If'ﬁmﬂ@ m%l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 60 Question Id : 68019113853 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor of capacitance 12.5 pF 1s charged by a battery connected
between its plates to potential difference of 12.0 V. The battery is now
disconnected and a dielectric slab (€,= 6) 1s inserted between the plates. The

change in its potential energy after inserting the dielectric slab 1s X
ks
107127,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 68019113853 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12.5 pF Y11 & T IR e TRA BT 12.0 V [GHTR $1 UF 8¢l gRI
TG a1 STl 8| 921 §eH & SWRId €, = 6 WRIAdis Ul &l GHIRA BI

ﬁﬁ%ﬂwwaﬂ%mﬁwﬁ%ﬁaﬁﬁwﬁﬁﬁﬁﬁamﬁmﬁq
x 1072 78|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Clear Response:
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Question Shuffling Allowed :
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Question Number : 61 Question Id : 68019113854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

680191225
5

Online
Mandatory
20

20

80

Yes

0

1
680191315
Yes

null

Choose the Incorrect Statement about Dalton's Atomic Theory

Options :

68019154551, Matter consists of indivisible atoms.

All the atoms of a given element have identical properties including identical

68019154552, mass.

68019154553, Compounds are formed when atoms of different elements combine in any ratio.

68019154554, chemical reactions involve reorganization of atoms



Question Number : 61 Question Id : 68019113854 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Slee GRATY Rgid & dR H TTeid &Y 3l I

Options :

68019154557, FaTd SfAHTST TRATISH & HfHd glaT 8|

il 1o 77 a0 & FT oA & 91 Ue A1 So0HH Hied U6 $AH
68019154552, TUTEH B |

el faftrst el & oA faslt ot 3rgord & g oxd § o Al ot e
68019154553, BII T

68019154554, JTRIFD Sifdfcharsii & TRATUS{ &1 Trodawyl 8idl &

Question Number : 62 Question Id : 68019113855 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement/’s about Hydrogen bonding 1s/are

A. Hydrogen bonding exists when H 1s covalently bonded to the highly electro
negative atom.

B. Intermolecular H bonding 1s present in o-nitro phenol

C. Intramolecular H bonding 1s present in HF.

D. The magnitude of H bonding depends on the physical state of the compound.

E. H-bonding has powerful effect on the structure and properties of compounds

Choose the eorrect answer from the options given below:

Options :

68019154555, A only



68019154556, A. B. D only
68019154557, A. B. C only

68019154558, A, D. E only

Question Number : 62 Question Id : 68019113855 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

elEaio E2H & a8 H Jel U ¢ le:

A. BISSIS 16~ YTg] ofldl ¢ e H s Bufdgyal ad @ 91y
WW%WQGT%%{ r

B. o-TIZCIB A H 3R 3M1UdD (ST AIaER) BIZgo STaA UTg Oldl
g

C. HF ¥ 3R f0a® (31 SIS0 SIE~H UTg offdl |

D. H-3{Tg= &1 uRam 9ifis & ey R v Frar g

E. H-S{Ta=F &1 1] &1 a1 Ud 01 IR THTGeIel H41d Usal o
=i f&u U faeredl & ¥ 9el SR 9:

Options:

68019154555, Hadl A

68019154556, AU A, B, D

68019154557, POT A, B, C

68019154558, POU A, D, E

Question Number : 63 Question Id : 68019113856 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equilibrivm constant for the reaction

: I
80;(g) ==50,(g) + 5 02 (g)

138 K. =4.9 x 1072, The value of K. for the reaction given below 1s
250, (g) +0,(g) == 2804 (g) is:
Options :

68019154559. 4.9
68019154560. 416
68019154561. 41.6

68019154562. 49

Question Number : 63 Question Id : 68019113856 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{7 3ifsferar & fou | RIS &: K, = 4.9 « 1072

_, ﬁ "y
503 (g) == 50, (g) + 5 Oa(g)

T 2 S0, (g) + 0, (g) == 280, (g) F UK, FTAFE:
Options :

68019154559, 4.9

68019154560. 416



68019154561. 41.6

68019154562. 49

Question Number : 64 Question Id : 68019113857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fuel cell. using hydrogen and oxygen as fuels.

A has been used in spaceship

B. has as efficiency of 40% to produce electricity
C. uses aluminum as catalysts

D. is eco-friendry

E. is actually a type of Galvanic cell only

Choose the correct answer from the options given below:

Options :

68019154563, A. B. C only

68019154564, A. B. D only

68019154565, A D. E enly

68019154566, & B. D. E only

Question Number : 64 Question Id : 68019113857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BI5SIoH Ud SadoH @l 387 & =4 H 390N $=- ald 549 9a

A, 3fafve o= © 3uanT 65U o1d B
B. ! [dggd SdIEA & AU G&fdl 40% Bl 5 |
C. UgHIaH &1 SoR® & 9§ SUa B g |

D. S-Sl 8id &
E. 9%dd § U6 SR & a1 9d T 6

A3 fag o faepedl & 4wl SR

Options:

68019154563, PAT A, B, C

68019154564, P A, B, D

68019154565. d7ac A,D.E

68019154566, 9 A, B, D.E

Question Number : 65 Question Id : 68019113858 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- " . . *¥is
For a strong electrolyte, a plot of molar conductivity against (concentration)!'? is a
straight line. with a negative slope. the correct unit for the slope s

Options:
68019154567, S em?® mol™1 L12
68019154568, S em” mol 'L

68019154569. S em” mol™> 2 L12

68019154570. S em= mol™> 2 L.12



Question Number : 65 Question Id : 68019113858 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Udd [9ggd HUI & folt HieR I dl [deg (Fisan!2 &1 Ik U
FHUNEE Haurdl aral Al ¥@1 8 | Waurd (1) &1 Jel ES ¢:

Options:

68019154567. S em” mol™! L2

68019154568. S cm= mol — L

68019154569, S cm? mol™'2 L7112

68019154570. 5 em® mol™ 2 L2

Question Number : 66 Question Id : 68019113859 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The correct order of first ionization enthalpy values of Li. Na. F and
ClisNa<Li<Cl<F

Statement IT : The correct order of negative electron gain enthalpy values of L1
Na.FandClisNa<Li<F<(Cl]

In the light of the above statements. choose the correet answer from the options
given below

Options :

68019154571. Both Statement I and Statement II are true

68019154572, Both Statement I and Statement I are false



68019154573. Statement I 1s true but Statement II is false

68019154574, Statement I 1s false but Statement II is true

Question Number : 66 Question Id : 68019113859 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂﬁaﬁwﬁnm%} |

YT Li. Na. F UG C1 & YYH A0 U] TH1 &1 9ol HH 8: Na < Li < Cl
<F

@Y I : Li, Na, F U C1 & BUTHD saidgi- qfed T JH1 &1 ol 94 o
Na<Li<F<cl

P HYHl & F5H & A U T fawed! § § waifte Suged I 95:

Options:

68019154571, &Il BUF 1 UG HUH 11 Fal §

68019154572, Gl PYF 1 Ud B 11 7T07d §

68019154573, PUT 1 e & TR~q U 1171 §

68019154574, PUT 1710 8 TR PUF 11 {1 8

Question Number : 67 Question Id : 68019113860 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of the first ionization enthalpy 1s



Options:

68019154575. Ga= Al =B

68019154576. B = Al = Ga

68019154577. T1 = Ga = Al

68019154578, Al> Ga =Tl

Question Number : 67 Question Id : 68019113860 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TUT A 3ol &7 ol HH &
Options:

68019154575, Ga=> Al =B
68019154576. B = Al > Ga

68019154577. T1> Ga = Al

68019154578, Al> Ga =Tl

Question Number : 68 Question Id : 68019113861 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The number of species from the following that have pyramidal geometry around
the central atom is

g e = Vs
S,0%7, 8037, 8037, 8,03
Options:

68019154579. 1

| )

68019154580.
68019154581. 3

68019154582. 4

Question Number : 68 Question Id : 68019113861 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rfeiad § 9 87 willy 31 9o e d<ia Rem] W RS sarfd
TS, ST -

$,037,8077, 803, 5,02
Options:

68019154579. 1

| )

68019154580.

68019154581. 3

68019154582. 4

Question Number : 69 Question Id : 68019113862 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A first row transition metal in its +2 oxidation state has a spin-only magnetic
moment value of 3.86 BM. The atomic number of the metal 1s

Options :

68019154583. 25
68019154584, 213
68019154585. 2.2

68019154586. 26

Question Number : 69 Question Id : 68019113862 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TYH il & ol FpHuT ¢1g BT +2 HATRHTDRUT ST H TU=sh U] HIA D 1g
HTeof 3.86 BM 8 €Tq &1 URAT] HHI® ©:

Options:

68019154583. 25

68019154584, 13

68019154585. 2.2

68019154586. 26

Question Number : 70 Question Id : 68019113863 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of unpaired d-clectrons i [C‘o{HED}ﬁ]E_ 15
Options :

68019154587. 0

68019154588. 1

| )

68019154589.

68019154590. 4

Question Number : 70 Question Id : 68019113863 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
[Co(H,0)cF H SR d-Saiac -l & I 6-

Options:

68019154587. 0

68019154588. 1

| )

68019154589.

68019154590. 4

Question Number : 71 Question Id : 68019113864 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If an iron (III) complex with the formula [FE(NHB )x {'CN}? } has no electron in
its ¢, orbital. then the value of x + y is |

Options :

68019154591. 3

68019154592. 4

LN

68019154593.

68019154594 6

Question Number : 71 Question Id : 68019113864 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg [Fe(NHﬂx (CN) } 3 e et SR (1) Gt o e, e i 3f

qﬁ_la@uq RIESI :I_E?[%Eﬁ % yWIIFI%':
Options:

68019154591, 3

68019154592, 4

68019154593. 5

68019154594 6

Question Number : 72 Question Id : 68019113865 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When MnO, and H,80, 1s added to a salt (A). the greenish yellow gas liberated as
salt (A)1s:

Options:

68019154595, NabBr

68019154596, NH4Cl

68019154597, Cals

68019154598, KNO3

Question Number : 72 Question Id : 68019113865 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 Tl (A) H Mn0, T4 H,50,, I firamar s € df g8 dicft g fdaa i @
AU A B:

Options:

68019154595. NaBr

68019154596, NH4Cl

68019154597, Cals

68019154598, KNO3



Question Number : 73 Question Id : 68019113866 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The adsorbent used in adsorption chromatography 1s/are -

A silica gel
B. alumina
C. quick lime
D. magnesia

Choose the most appropriate answer from the options given below :

Options:

68019154599, A only

68019154600, B only

68019154601, A and B only

68019154602, C and D only

Question Number : 73 Question Id : 68019113866 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iferiyor guiciga & guan foar o= arenard ey o/

- feu e fdsedl § 3§ Halfve 39ged 3w 94

Options :

68019154599, Hadl A



68019154600, Pad B
68019154601, PO ATI B

68019154602. &ad C TG D

Question Number : 74 Question Id : 68019113867 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct order of stability of carbanion 1s -

© o © K

a b c d
Options :

68019154603. d>¢c=b>a

68019154604, a=b>c¢>d

68019154605. d>a=¢c>b

68019154606. ¢ = b=>d=>a

Question Number : 74 Question Id : 68019113867 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BITHUNTA & RTd & J6! HH 6-

© o L X

a b ¢ d
Options:

68019154603. d=¢=>b>a
68019154604, a=b=c>d
68019154605. d=a=¢c>b

68019154606. ¢ > b >d>a

Question Number : 75 Question Id : 68019113868 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O Na’
U AT 0 "R
EE— — O
9] O
H H

In the above chemical reaction sequence "A" and "B" respectively are

Options:

68019154607, H,0. H and KMnO,

68019154608, O3+ Z0/Hy0 and NaOH 50y T

68019154609.



H,0. H" and NaOH_y¢y/1,

68019154610, O3- Z0/H,0 and KMnO,

Question Number : 75 Question Id : 68019113868 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O Na’
Or N 0 R o
O @)
H H

SWidd IS SHfhar Y H "A" Ud 'B" HHI: 5

Options:
68019154607, H20. H™ Td KMnO,

68019154608, O3 ZH20 Td NaOH )T,

68019154609, 1120 H Ud NaOH0) T

68019154610, O3+ Z0/H,0 Td KMnO,

Question Number : 76 Question Id : 68019113869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the major product formed from the following reaction. [Me : —CH;]

Br Br

\g MeaNH (2 equiv)

Options:

<

N' E’g WEE

68019154611. g

NMe,

68019154612. NMe,

NMe, NMe,

68019154613. \@/

68019154614. g

Question Number : 76 Question Id : 68019113869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad sififear 9 R g 3drE &1 9al &3 [Me : —CH;]

Br Br

\@/ MeaNH (2 u:qui'v} .

Options:

NMe, NMe,

68019154611. g



68019154612. L.

68019154613.

68019154614. NMe,

Question Number : 77 Question Id : 68019113870 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TA KOH(alc) , major product "P"
A

Br

Product P 1s

Options :
68019154615.
68019154616.

68019154617.



\

68019154618.

Question Number : 77 Question Id : 68019113870 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TA KDI—i‘dlC} 5 ]E’ SE‘“EF{“P"

Br
SAGPE
Options :
68019154615.
68019154616.
68019154617.

68019154618.



Question Number : 78 Question Id : 68019113871 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Commeon name of Benzene - 1. 2 - diol 15 -

Options:

68019154619, resorcinol

68019154620, quinol

68019154621. catechol

68019154622. o-cresol

Question Number : 78 Question Id : 68019113871 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
§11 - 1, 2 - SIEHTE BT HH 19 &
Options :

63019154619, JTNGAIA

68019154620, [&-1d



68019154621, BicHIA

68019154622, o-lbald

Question Number : 79 Question Id : 68019113872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CH; —CH, — CH, — Br+ NaOH — 22598, product’A'!
H,0
= > Product"B”

ProductA ——
Diborane

. =—> Product "C"
H,0/HO/OH’ "~

Consider the above reactions, identify product B and produect C.
Options:

68019154623, B = 2-Propanol C = 1-Propanol

68019154624, B = 1-Propanol C = 2-Propanol

68019154625, B = C = 2-Propancl

68019154626, B = C = 1-Propanol

Question Number : 79 Question Id : 68019113872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
CH; - CH, — CH, — Br + NaOH —2159M_, gy 1

H,0
H

> JdIg "B"
JHIG A ——

- .
EA I Eal 5\

H,0 /H,0,/OH”

SR Ul arsl iR [daR $IfGY I1E B U4 3d1E C &I ggd1-u:

Options:

68019154623, B = 2-HIUAId € = 1-904Td

gJdlg "C"

68019154624, B = 1-UIUAId € = 2-UI0A1d

68019154625, B = C = 2-HIUATd

68019154626. B = C = 1-HIU4Td

Question Number : 80 Question Id : 68019113873 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LISTI LIST IT

¢ - Glucose and a - Galactoze| 1. |Functional isomers

o - Glucose and B - Glucose | II. |Homologous

o - Glucose and a - Fructoze | II1. | Anomers

olofw]>

o - (Glucose and a - Bibose IV, |Epimers

Choose the correet answer from the options given below:
Options:

68019154627, A-IIL. B-IV. C-1. D-II

68019154628, A-IIL. B-IV. C-II. D-I



68019154629, A-IV. B-1II. C-I. D-II

68019154630, A-IV. B-1II. C-II. D-I

Question Number : 80 Question Id : 68019113873 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Tt 1 D1 (e gt 1 9 &3

el Gelbl!
o THY UL - Toaerd| 1 |hards gaead
o-TRY T 6-DRG | 1L [T
&—Wﬂﬁ;u—m IIL a:h":l_{
o - TGP U4 o - T | IV |3

3 Ry e w4 @ wd SR

Options:

olofw|s

68019154627, A-IIL. B-IV. C-I. D-II
68019154628, A-IIL. B-IV. C-II. D-I
68019154629, A-IV. B-1II. C-I. D-II

68019154630, A-IV. B-1II. C-II. D-I

Chemistry Section B

Section Id : 680191226

Section Number : 6



Section type: Online

Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 680191316
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 68019113874 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum number of orbitals which can be identitied withn=4 and m; =0 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 68019113874 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
n=4 T4 m; = 0 G U9 W dIdl Hefb] B HfUdad & §

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019113875 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of compounds / species from the following with non-zero dipole moment
18

BeCl,, BCls. NF;. XeF,. CCly, H,0. H,S, HBr, CO,. H,. HCI
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019113875 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaiad 9 9 57 Aol wixiiel o1 G fSHer fayg smyuf g =8l 8

BeCl,. BCl;. NF5, XeF,. CCly. H>0. H,S. HBr. CO,, H,. HCI
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019113876 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three moles of an ideal gas are compressed 1sothermally from 60 L to 20 L using
constant pressure of 5 atm. Heat exchange Q for the compression 15 — Lit.
atm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019113876 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feraft 3Mexl 719 & o9 Adl @1 5 atm & QR &6 W 60 L T 20 L % JAAUT
Tuifsd forar man Idtea & faugwn o g e atm

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 84 Question Id : 68019113877 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.7 kg of each of water and acetic acid are mixed. The freezing point of the
solution will be -x °C. Consider the acetic acid does not dunerise in water, nor
dissociates in water. x = (nearest integer)

1 1

[Given: Molar mass of water = 18 g mol ™. acetic acid = 60 g mol™

KrH,0:1.86 K kg mol!

Kt acetic acid: 3.90 K kg mol !

freezing point: H,O = 273 K., acetic acid = 290 K]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019113877 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 Ud Uifee o Uid & 2.7 ke b1 FERIT 1) et b1 T8I -x°c BT
AT & o 8§ Udifed o 9 a1 G (dimer) §701 & 3R 7 61 fogiford gia
B = (Fweaq guife )

(e T B 99 U4 UHIfe® o &1 HieR So0HH B 18 ¢ mol™! UG 60 g mol™
'3

K (91<T) = 1.86 K kg mol™!, K (UHICS 3{TT) = 3.90 K kg mol L. ¥a1 &1 fgHics
= 273K. UHI{cd 3% &1 fgHIi® = 290K)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 68019113878 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following reaction, the rate expression of which 1s given below

A+B—-C

A

rate = k [A]Y? [B]}?

The reaction is initiated by taking 1 M concentration of A and B each. If the rate

constant (k) is 4.6 ¥ 1072 ¢~1. then the time taken for A to become 0.1 M is
sec.
(nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 68019113878 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad sfiifear w faar @i, g ar iR i fearmar 6
A+B—-C
W=k {AII.E [B]l.f

ATE B YIS B 1 M I5dl & 91y fNfthar &1 uRe foar onar g afe an
RRI® (k) 4.6 > 102 s ST ADI 0.1 MEH H T G GHA B BEast




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 68019113879 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A first row transition metal with highest enthalpy of atomisation, upon reaction
with oxygen at high temperature forms oxides of formula M,0, (where n=3. 4.

5). The 'spin-only' magnetic moment value of the amphoteric oxide from the above
oxides 13 BM (near integer)

(Given atomic number : Se: 21. T1:22. V: 23, Cr: 24, Mn : 25, Fe : 26, Co : 27,
Ni: 28 Cu:29, Zn: 30)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 68019113879 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et weym 9ot FepmuT e forgest RATE SUH TR 9aifde 8, 3= ard

R IS H a1 S T M,0,, (8] n = 3. 4. 5) UHR BT G133 Tl

¢ SUge Silurgs! § 9 SygyHl SIS 1 W=h Ul BIA JEdbig AT d1
% BM (Fdead guiie &)

W@W &g TF'JT% Sex2l, Fi:22 Vi 23, Cri24: M 25, Fe: 26, Co:
27.Ni: 28, Cu: 29, Zn: 30)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 68019113880 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From 6.55 g of aniline. the maximum amount of acetanilide that can be prepared
will be «1071 g,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 68019113880 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6.55 ¢ UFAEH ¥ Ufafeaamss &t ciftean amn o it @1 o1 9@ .

g <107l g,



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 68019113881 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of 'sigma’ and 'P1' bonds in 2-oxohex-4-ynoic acid 13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 68019113881 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2-HFEFH-4- S35 1 § TFar Ud urg’ Sia &1 $d & 6:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 89 Question Id : 68019113882 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vanillin compound obtained from vanilla beans, has total sum of oxygen atoms
and m electrons 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 68019113882 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af-fer giffte St afer &= 9 e fear aran 8, § sifaits graruysi &1
%1 U4 7 - SAF Il D1 Hd T 6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Phthalimide iz made to undergo following sequence of reactions.

(i) KOH
(1) Benzylehlonde

Phthalimide > P’

Total number of 7 bonds present in product 'P' 15/are
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(1) KOL
(11) Bengylehlonde

Phthalimide > 'P’

SaE PH - A Bl gaTEne
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